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The condition of Pareto optimum is :
(A) efficiency in consumption

(B) efficiency in production

(C) efficiency in product mix

(D) All of the above

Which is true about Social Welfare
Function ?

(A) It includes an explicit set of value-
judgment.

(B) It is an index of social welfare of
society.

(C) It is an analogue of individual
utility function.

(D) All of the above

Ground utility possibility curve shows :

(A) all marginal conditions of Pareto
optimum
(B) maximum consumption

(C) maximum production

(D) None of the above

What is true about externalities ?

(A) They create a divergence between
private cost and social cost.

(B) They are not reflected in market
prices.

(C) Both (A) and (B)

(D) None of the above
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General equilibrium shows :

(A) equilibrium of all markets
(B) equilibrium of all firms
(C) equilibrium of all consumers

(D) All of the above

Which is the condition of equilibrium of

consumption ?

P
(A) MRS, =—*
y

w

(B) MRS, =
(C) MRS, =P,

(D) None of the above

General equilibrium exists when :

(A) all markets cleared at a positive
price.

(B) each consumer maximises utility.
(C) each producer maximises profit.

(D) All of the above

Efficient allocation of resources exists
in:

(A) Perfect competition
(B) Monopoly
(C) Imperfect competition

(D) None of the above
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The point where social welfare is

maximised in Bergson criteria, s

called :

(A)
(B)
(©)
(D)

Maximum point
Minimum point
Bliss point

None of the above

Who gave the concept of

‘Group’ ?

(A) Chamberlain
(B) John Robinson
(C) Robert Triffen

(D) None of the above

What are the examples of public goods ?
(A) Street light

(B) Defence

(©)

(D) All of the above

Police

Excess capacity exists in :

(A) Perfect competition

(B)

Monopolistic competition
(C) Monopoly

None of the above

(D)
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Game theory is related with :
(A) Oligopoly
(B) Duopoly
(®)

Perfect Competition

(D) Both (A) and (B)

Who gave the concept of Game theory ?

(A) Baumol

(B) Hall and Hitch
©)

(D)

Newman and Morgenstern

None of the above

Monopoly market is a market,

where :

(A) No entry of the firms
(B)
©)

(D)

No close substitution of goods
Single seller
All of the above

Which condition is necessory for profit

maximisation ?
(A)
(B)
(D)
(D)

MR = MC
MC should be rising

Both (A) and (B)

None of the above

Set-A



17.

18.

19.

AMING HelIT BT RITId RigTd
fepeeT e 2

(A) Wel

® W

C) T

(D) Iife=a=

Wl 3qHeldd Bl a2 fbd aoiR 4 91
PR TD & ?

(A) IeHTEBR

(8) ot wfcrnfiaT

(C) TPIEBR

(D) SWE H W Big Tal

4Re gfg Hied & |<d H 71 9Ll § ?

BPERSED Qa T gR®  STeTT-3Tel]

B B |

(A)

Y 3T Id @Ted ¢ |

WIMAT-IRG o Afdd BHAT ar8d
gl
SERECEGE]

(B)
(©)

(D)

A080801T

(7)

17.

18.

19.

Who gave the Impossibility Theory of

Social Welfare ?

(A) Pareto

Arrow

(B)

(C) Hicks

Robinson

(D)

We can achieve the Pareto optimum

condition in :

(A) Oligopoly

(B)

Perfect competition

(C) Monopoly

None of the above

(D)

Which is true about Marris Growth

Model ?
(A) Separation between Managers and

Owners.

(B)

Managers aim at better salary.

(©)

Owners aim at profit.

(D) All of the above
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What is not true about Pareto optimum

criteria ?

(A) It is based on ordinal

approach.

utility

(B) Itincludes the value judgment.

(C) It gives the conditions of maximum

social welfare.

(D) None of the above

A producer’s equilibrium condition is :

w
(A) MRTS; =

(B) MRTS,, =W

(C) MRTS ¢ =r
(D) None of the above

General Equilibrium Model is based on :
(A) two firms
(B) two consumers

(C) two factors of production

(D) All of the above

All points of grand utility possibility

curve satisfy this condition :

(A) MRS}, = MRS,

(B) MRTS{ = MRTSE
(C) MRPT = MRS
(D) All of the above
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24,

25.

26.

217.

Who wrote this book “Elements of Pure

Economics” ?

(A)  Marshall
(B)
(©)

(D)

Leon Walras
Hicks

None of the above

Who gave the theory of social choice in

Welfare Economics ?

(A) Samuelson
(B)
(®)

(D)

Arrow
Bentham

Pareto

General equilibrium model is based on
the assumption :

(A)
(B)
(©)
(D)

Perfect competition in all markets
Full employment in all markets
Both (A) and (B)

None of the above

The

function in Williamson Model are :

determinants of owners utility

(A) Profit
(B)
(©)
(D)

Market share
Production

All of the above

Set-A



28. JNf¥d W fqwelvor & Srdid w1 Al 28. What is true about partial equilibrium

39 approach ?

(A) B UId TR BT AIT-3TelT (A) We study a single market in
ST TR 2 isolation.

(B) TR & WRER IRl & &9 § (B) The interdependence of markets is
T W ¥ ignored.

(C) THI (A) 3R (B) (C) Both (A) and (B)

(D) SWE ¥ | TS el (D) None of the above

29. M Hou MRV &1 g o faar ? 29. Who gave the theory of limit pricing ?

(A) (A) Bain
(B) driret (B) Baumol
(C) e (C) Marshall
(D) SUJa H § IS el (D) None of the above
30. dMIqA © : 30. Limit price is :
(A) a9 vy qeg (A) Entry Preventing Price
(B) Y% WA A (B) Entry Free Price
(C) I (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H A Bl 7Tl (D) None of the above

A080801T (10) Set-A



31. fosod =g fog 9ok # 999 el 31. Advertising  expenditure is  most

— important in :

(A) or iR (A) Perfect competition

(B) TATRIBR (B) Oligopoly

(C) TSIEdR (C) Monopoly

(D) SWF &l (D) All of the above
32. fam e Rrgr fhem fear ? 32. Who gave the sales maximisation

theory ?

(A) ol (A) Cournot

(B) e (B) Baumol

(C) (C) Bain

(D) I (D) Marshall

33. T4 & @gERardl RigrT & aWR, B4 33, According to behavioural theory of firm,

Gl aten g the aim of firm is :
(A) e (A) Production

(B) fds (B) Sales

(C) IR ¥ fwm (C) Market share
(D) Sugad |+l (D) All of the above

A080801T (11) Set-A



34, fd@! afdaw RigT @ S8R B4 09w 34. According to sales maximisation theory

A E firms prefer :
(A) DT g (A) Price competition
(B) IR-oma ufcnfiar (B) Non-price competition
(C) o™ gforRnfirar (C) Profit competition
(D) SWE ¥ | FIg el (D) None of the above
35. fASUS @1 T I T 35.  The main aim of advertisement s :
(A) I fddmas a (A) maximise sale
(B) T 3AfIdaH BT (B) maximise profit
(C) TG 3ferhTH FRAT (C) maximire production
(D) SUgad JHI (D) All of the above
36. WIS 3R HE BT Aled THEMRIT © 36. The theory of Cyert and March is related
with :
(A) WH & AEaERAG! Rig 9 (A) behavioural theory of firm
(B) oM 3ifdrean Rigra A (B) profit maximisation theory
() fIp! arfreas Rigra A (C) sales maximisation theory
(D) Suga H A Bl el (D) None of the above
37.  IR-@Md gfofiar &7 SR 2 37. The examples of non-price competition
IS :
(A) fasom (A) advertisement
(B) ST YR (B) product improvement
© UpforT R (C) packaging improvement
(D) Sugad FI (D) All of the above

A080801T (12) Set-A



38. T uffar § w4 @1 Seww @ar 38, The aim of firm in perfect competition

2 is:
(A) T ATTHTH BT (A) profit maximisation
(B) fa! SifddmaH o= (B) sales maximisation
(C) UG JeHaH BT (C) production maximisation
(D) SWa &l (D) All of the above
39. fIEUe @M fbd IR H #ecql @l 39. Advertisement cost is not important
27 in:
(A) U R (A) Perfect competition
(B) UIRER (B) Monopoly
(C) THI (A) IR (B) (C) Both (A) and (B)
(D) STHTEHR (D) Oligopoly
40. B P IgRae] Rigrd dHId ¢ : 40. Behavioural theory of firm deals with :
(A) BA D GO FIER (A) Satisfying behaviour of firms
(B) oM 3ifddaH o (B)  Profit maximisation
(C) fIp! arfream @ (C) Sales maximisation
(D) Suga H A Bl 7Tl (D) None of the above
41. 9RY Aled & CHRIR BH BT kel I 41. According to Marris theory the main aim
3 of firmis:
(A) M RGBT BT (A) Profit maximisation
(B) H &I gig X ARHAH HRAT (B) Maximisation of growth rate of
firm
(C) faspT SfddmaH o= (C) Sales maximisation
(D) SUYa H A Bl 7l (D) None of the above

A080801T (13) Set-A



42. BH BT JOendel Rerd foa 42. Who gave the behavioural theory of

oy ? firms ?

(A) T T, TR (A) H.A.Simon

(B) WRIE UG A (B) Cyert and March
(C) THI (A) R (B) (C) Both (A) and (B)
(D) SWE ¥ | FIg el (D) None of the above

43. JAeN H fapdeil @ gE@r g8dl 43.  Number of sellers in oligopoly is :
2

(A) T EH (A) More than two
(B) @ (B) One
C) (C) Two
(D) SUYa H H IS el (D) None of the above
44. IOE faue gHfd 2 44. Product Differentiation is related with :
(A) U gl | (A) Perfect Competition
(B) USSR & (B) Monopoly
(C) THIRHIRSG Ffornfirar | (C) Monopolistic Competition
(D) SUgad JHI (D) All of the above
45. “HB ¥ U 98 arane feae for 45, “Competition among the few”  this
T %\r ? statement is true for :
(A) ITATRBR (A) Oligopoly
(B) EIMEHR (B) Duopoly
(C) ol wfcRfirar (C) Perfect Competition
(D) Sugad FI (D) All of the above

A080801T (14) Set-A



46. WTI Pl CECASKE RIgrd  meRd 46. The concept of Pareto optimum is based

% : on:

(A) STIRT & HHIES fdaR W (A) Ordinal utility approach
(B) SYARIAT & TUEEEG f[daR T (B) Cardinal utility approach
(C) THI (A) 3R (B) (C) Both (A) and (B)

(D) SUYd H H I el (D) None of the above

47. HIVHR AT dT R fohee 47. Who gave the concept of Welfare

foagy 2 Economics ?

(A) A (A) Marshall

(B) U (B) Pigou

(C) el (C) Pareto

(D) SUgad JHI (D) All of the above

48. SRR IS BT RN HFCUE 48. Double criterion theory of Welfare

RrgT i 2 - Economics is related with :
(A) WETH (A) Pareto

(B) @ISR A (B) Kaldor

(© feow (C) Hicks

(D) FRcrawl & (D) Scitovsky

A080801T (15) Set-A



49.  TEITH 6O Bl aﬁquﬁ Rrgrd 49. Compensation principle theory of social

N welfare was propounded by :
(A) &R 19 FresR (A) Hicks and Kaldor
(B) U] (B) Pigou
(C) Wl (C) Pareto
(D) SUYa H H I Tl (D) None of the above
50. HeITUdTG] I TR © 50. Welfare Economics is related with :
(A) e | (A) Ethics
(B) SeIH® FREHIT | (B) Normative approach
(C) HIRTG el | (C) Social welfare
(D) SUgad FHI (D) All of the above

51. WD Hed B &l Rerd  fhad 51. Who gave the theory of social welfare

foragy ? function ?

(A) el (A) Pareto

(B) HMEIc (B) Marshall

(C) e (C) Bergson

(D) SUYa H A Bl 7l (D) None of the above

A080801T (16) Set-A



52. dr&fdd NS § OGEE § DF-4T 52. Which statement is false about Positive

T AT $ 2 Economics ?
(A) Tg PRU-RITH G Bl T (A) It studies with cause-effect
T relationship.
(B) s GIRIEED Ugc] DT JALYIT Xl (B) It studies the positive aspect.
gl
(C) I A0 I B IAT Bl I (C) It does not study the desirability of
T P 2 policy.
(D) T S el | =Y 7 | (D) ltis related with Ethical value.
53. 9N fd%oldl & BRU & 53. Causes of market failure are :
(A) WS TR (A) Public goods
(B) S<ed H @A (B) Externalities in production
(C) YT ¥ FIEIamy (C) Externalities in consumption
(D) Sugad FI (D) All of the above
54, 3ITEIAR & faRiean g 54. Characteristics of oligopoly are
(A) HA H RERMHRAT (A) Interdependence of firms
(B) Sar fagme @ (B) High advertisement expenditure
(C) el Frc G (C) Cut throat competition
(D) Sugad FI (D) All of the above

A080801T (17) Set-A
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IR fatherdl &7 d10d & -

(A) 3dead Rafd o T8 &

Tl B

(B) SR H Gl
(C) TacRor H erere

(D) STda # & Big 7L

“JeE T bddl YPRICD  §fe

BASIH W 217 Ig B fowgar g ?

(A) ECET
(B) TsH fer
(C) A

(D) T . 9

YgRIHl & ST Beld & BRD @ -
(A) daq

(B) IR Bl [

(©) = (AR (B)

(D) o

(18)

55.

56.

57.

Market failure means :

(A) optimum situation has not been

achieved

(B) efficiency in production

(C) efficiency in distribution

(D) None of the above

“Economics is not only light bearing but
also fruit bearing.” Who gave this

statement ?

(A) Robertson

(B) Adam Smith

(C) Marshall

(D) A.C.Pigou

Factors of managers utility function are :

(A) Salary

(B) Job security

(C) Both (A) and (B)

(D) Profit

Set-A



58. JcUGd H Wjer B ¥ & WMl Bl 58. Equilibrium of production  means

efficient allocation of resources among :

qATH 3fTee :

(A) SUIITIRN & T (A) Consumers
(B) WA & HeY (B) Firms
(C) #M B 5y (C) Labour
(D) TSl & 7 (D) Capital

59. “afe IfHaw @R gRT ofidad avgeli  59.  “Welfare is improved when the greatest
& i Bl 2 ar de ¥ qUR good is secured by greatest numbers.”

This notion is given by :
g |” I8 fdurR foem fear ?

(A) S (A) Bentham

B) fRw (B) Hicks

(C) Wal (C) Pareto

(D) SUYd H § I el (D) None of the above

60. “Qq:” gRadq o foqr gl @) NG oy 60. “Any change that makes at least one

fodl v @l f Ao =@ g A T individual fetter-off and no one warse-off

_ _ is an improvement in social welfare.”
TS BT § GoR © |” 9 $ed ¢ -

This is known as :

(A) TRCI e (A) Pareto optimum
(B) PlceR-Rd AFETS (B) Kaldor-Hicks criteria
(C) ¥ HFEUS (C) Bentham criteria
(D) SUYa H A Bl 7l (D) None of the above

A080801T (19) Set-A



61. “MId HAT FHINTD Hedo Pl I8 61. “Economic welfare is that part of social

welfare that can be measured by money.”

W & FORT g5T @ gRT AT O Hebell & |”
Who gave this statement ?

I8 B foe fear ?

(A) T LU (A) A.C.Pigou

(B) el (B) Marshall

(C) Wal (C) Pareto

(D) SWE ¥ | TS el (D) None of the above

62. 3ot gl 1 fooR foem fear ? 62. Who gave the concept of Imperfect

Competition ?

(A) S e~ (A) John Robinson

(B) W (B) Pareto

) feaw (C) Hicks

(D) TFRfeH (D) Chamberlian

63. WM W b1 Hisd foge faofyd 63. Who developed the model of General

Ry 2 Equilibrium ?
(A) e (A) Walras
(B) Wl (B) Pareto
(C) TUsH R\ (C) Adam Smith
(D) HIed (D) Malthus

A080801T (20) Set-A



64. qramR o SuRufd § el el P 64. If externalities exist, then Pareto optimum

o conditions are :
(A) T (A) Fulfilled
(B) T el BRll © (B) Not fulfilled
(C) < (A) 3R (B) (C) Both (A) and (B)
(D) SUYd H H IS el (D) None of the above
65. WM Wger B AR ¢ 65. Problems arise in general equilibrium is :
(A) ARTT DI FARAT (A) Existence problem
(B) g B @ Al (B) Uniqueness problem
(C) Rerar @l v (C) Stability problem
(D) SUgad JHI (D) All of the above

66. WCI AMQUS & AR SUHlGEll @ 66, According to Pareto criteria which is the

efficient distribution of commodities

T awgel B fIR gEeam @

among consumers :

Ife

(A) MRS}, = MRS} (A) MRSy =MRS§
(B) MRS=P (C) MRS=P

(C) MRTS=W (C) MRTS=W

(D) SUYa H A Bl 7l (D) None of the above

A080801T (21) Set-A



67. fafora=ad & Ysualg dAfed & T H 67. Which statement is true about Williamson

BT FF 97 & ? managerial model ?

(A) Ydgdh 3N Wi STl T-3Te T 8ld (A) Ownership and Management are
3| separated.
(B) WWIF@URSG o AfId HAMT dr8d (B) Owners want to Maximise profit.
gl
(C) VEHIE I 3ffeih AT A8 & | (C) Managers want to maximise salary.
(D) SUgad JHI (D) All of the above
68. UT IRl & T § R 9 § ? 68. What is true about perfect competition ?
(A) TS T § BT AR fagwar (A) Large numbers of sellers and
buyers
(B) ISR @I Tﬁ EIG (B) Full knowledge of market
(C) H HeT TBU HRA dTell BRIl © (C) Firms are price taker
(D) Sugad F4I (D) All of the above
69. UBHIGR & IR H o I 7ol © 7 69. Which is not true about monopoly ?
(A) TS fasar (A) Single seller
(B) WAl BT JdY WA (B) Entry is free of firms
(C) T & Mde yferema= &l (C) No close substitute
(D) SUYa H A Bl 7l (D) None of the above
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70.

71.

72,

73.

A080801T

JMRPR b TR H 7T 9 TS 8 7

(A) TS T § Hal-fahar

(B) IS fa=os @mTd el

(C) WH & 9 Pl fRaT Tl

(D) SWF &l

ST U WA a9 & T o
B © :

(A) B

(B) BRI

(C) WET G

(D) STda # & Big AL

Aol d N :

(A) ITaei A el §

(B) 3MUaGd el Biil &

(©) = (AR (B)

(D) SWYad # | BIg T2

R ef B &9 H -

(A) 3@ =T I B AMRY
(8) ¥feR® Tt ¥ B et |
(C) T (A) 3R (B)

(D) SUYa H A Bl 7l

(23)

70.

71.

72.

73.

Which is not true about oligopoly ?

(A) Large numbers of sellers and
buyers

(B) No selling cost
(C) No interdependence between firms

(D) All of the above

All the points on the grand utility

possibility curve are :
(A) inefficient

(B) efficient

(C) Pareto efficient

(D) None of the above

Public goods are :

(A) Excludable

(B) Non-excludable
(C) Both (A) and (B)

(D) None of the above

In General Equilibrium condition :

(A) Excess demand must be zero.
(B) Excess supply must be zero.
(C) Both (A) and (B)

(D) None of the above
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74, 9o FIgFT & J=d FTIT B © 74. Game theory is the study of :

(A) 3IReldH HIfaat & TgT Bl (A) selecting optimal strategies
(B) UfrIfrdl @l aRTsR Ufiwel < ol (B) giving equal outcome to
participants
() Rganfedl @ 9 fREMR R F (C) resolving conflict between players
Al
(D) SWE ¥ | TS el (D) None of the above
75. Wd g @l auifea febar o g 75. Game theory are classified by
the :
(A) Rgerfedl o 9@ g (A) Numbers of players
(B) o YIB! B AT gRT (B) Sum of all payoffs
(C) TRDIEl DI F&T §RI (C) Numbers of strategies
(D) SUYa H H IS el (D) None of the above

76. T o9 I W B TA PY Ghd 76. A mixed strategy game can be solved by :
2

(A) IR D A (A) algebraic method
(B) 3gE D A (B) matrix method
(C) Efoa TRD ¥ (C) graphical method
(D) SUgad JHI (D) All of the above
77. 3@ oo Wo ¥ ¢ 77. Inamixed strategy game :
(A) BT T a5 &I B (A) no saddle point exists
(B) T% S NI Th-dl RS9 (B) each players always select the same
BT TG FAT strategy
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above
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78.

79.

80.

A080801T

A WA @ g Y W, q T W
FEAT © :

(A) S wWaoE

(B) fagg oM

© foge wa

(D) Mi¥a Wl

o Rrgra @t Y Rufa o2t v wH @l
@ A BRT, Sfd gER BH @l 'l @,
DA & -

(A) TR R W

(B) ¥ IR wa

(©) foge wa

(D) Suga H A Bl el

el Bl faur TR g

(A) Td Rgra A

(B) JIURIGR dWIR A

(©) T (A) R (B)

(D) SUYa H A Bl 7l

(25)

78.

79.

80.

If the value of game is zero, then game is

known as :

(A) Fair strategy

(B) Pure strategy

(C) Pure game

(D) Mixed strategy

In game theory a situation in which one

firm can gain only when another firm loss

iscalleda:

(A) Non-zero sum game

(B) Zero sum game

(C) Pure game

(D) None of the above

The Prisoner’s dilemma is related with :

(A) Game Theory

(B) Oligopoly Market

(C) Both (A) and (B)

(D) None of the above

Set-A



81. SAICT TWITGAT Ieh Y el @ ¢ 81. Production possibility curve shows :

(A) IRHTH T FRA AT ScTEH, (A) Maximum attainable output at
[ U Al W given resources

(B) 3IfdmaH oI (B) Maximum profit

(C) JARDHTH e (C) Maximum price

(D) SUYa H H IS el (D) None of the above

82. TJICd FRIG] I ¥ X Pl NG 82. An outward shift of production

Rige fowamar & - possibility curve indicates :
(A) anfde Eﬂ?g' (A) Economic growth
(B) SRINTIRI (B) Unemployment

(C) HsTEwIfd (C) Inflation

(D) Suga H A Bl 7Tl (D) None of the above

83. @Rl &I SuRufd ¥ fow N 9 83.  Which method can help in obtaining a

RS FeaTo 3 qER IR T 39 welfare improvement if externalities
exist ?

(A) U] B gRI (A) Pigouian taxes

(B) IHRI & AMHR BT TINT §RT (B) assigning property rights

(C) B & WINT §RI (C) use of legislation

(D) Sugad FHI (D) All of the above
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84. ETUMGR & Aled & : 84. The duopoly models are :

(A) @A Hid (A) Cournot model

(B) TS HiSd (B) Bertrand model

(C) e Aiea (C) Edgeworth model

(D) SWa &l (D) All of the above
85. ol @I fefder o1 AR foem fear ? 85. Who gave the concept of Prisoner’s

Dilemma ?

(A) MBI T (A) Professor Tucker

(B) UL (B) Pigou

C) @ (C) Cournot

(D) SUYw H H I el (D) None of the above
86. ol g mid 2 86. Game theory is based on :

(A) wfed W (A) Self interest

(B) RITARN TR (B) Probabilities

(C) forar-ufcfar w (C) Action-Reaction

(D) Sugad F4I (D) All of the above
87. 3dHdq AMITe daT & fo dIF-@r 87.  Which market is best for maximum social

TR TS & ? welfare ?

(A) ITHEHR (A) Oligopoly

(B) EAMEIBR (B) Duopoly

(C) Ui wfraIRan (C) Perfect competition

(D) TSIEBR (D) Monopoly
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88. GF{UT Ui & SSENT & ¢ 88. Examples of Imperfect competition are :

(A) STHTEHR (A) Oligopoly
(B) EAMIBR (B) Duopoly
(C) THIRGIRG Ufcrnfirar (C) Monopolistic competition
(D) SWF &l (D) All of the above
89. Y |rJeld WRIA ¢ 89. Nash equilibrium is related with :
(A) Td Rrgra 9 (A) Game theory
(B) AHINIG HeUToT (B) Social welfare
(C) fAo T | (C) Private welfare
(D) SUYd H § I el (D) None of the above

90. ITOEBR P 3 BH BT dFT Ih Bl 90. Under oligopoly the demand curve of

3 firmis:

(A) SR (A) Uncertain

(B) ¥ (B) Certain

(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above
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ol. FHdIe # yo wRR wH wr@ @Rl 91 In the long-run a perfect competitive firm

3. receives :
(A) GMHNT o™ (A) Normal profit
(B) 3MNMAENT o™ (B) Supernormal profit
(C) @i (C) Loss
(D) SUYd H H I Tl (D) None of the above
92. ol g &1 Teld 45 Tl & 92. In the Game theory equilibrium point is
called :
(A) Ty fdwg (A) Conclusive point
(B) W fdvg (B) Saddle point
(C) Rer fag (C) Stable point
(D) SUYa H H IS Tl (D) None of the above
93. AT 3R Yo H =T Bl @ 93. The relation between demand and price
is :
(A) 938 (A) Direct
(B) fawdia (B) Inverse
(C) Y-IcHD (C) Positive
(D) SUYa H A Bl 7l (D) None of the above
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94.

95.

96.

97.

Regf 1 @ a1 Rigr ey R ?

(A) Ui TH. @il

(B) oreTH

(C) Hrf

(D) SWH # | B Tl
HIAT AJd B Gl B
(A) TGHHR ¥

(B) IrUTIeR #

(C) i wforRfirar o
(D) SWE & W B &l

Ted 63 B BT & -

(A) o #

(B) WHINATE H

(©) T (A) R (B)

(D) Suga H A Bl 7Tl

gl &R qou & 9rd Tl B ©
(A)
(B)
(©)

(D)

A080801T
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94.

95.

96.

97.

Who gave the theory of kinked demand

curve ?

(A) Paul M. Sweezy
(B) Samuelson
(C) Marshall

(D) None of the above

Price leadership works under :
(A) Monopoly

(B) Oligopoly

(©)

(D) None of the above

Perfect Competition

Price mechanism works under :
(A) Capitalism

(B) Socialism

(C) Both (A) and (B)

(D) None of the above

The relation between supply and price is :
(A) Direct
(B) Inverse

No relation

(©)

None of the above

(D)
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98. Heg foRIT URIT Ol & 98. Price discrimination works under :

(A) or yfoRfiar o (A) perfect competition

(B) USIEDHR # (B) monopoly

(C) THIRGIRG ufcrnfiar # (C) monopolistic competition
(D) Suga H H Bl el (D) None of the above

99. Ui yfoAfrar # AR 9%  @ar 99, Under perfect competition the demand

g curve is :
(A) QU dAFER (A) perfectly elastic
(B) U derERR (B) perfectly inelastic
(C) 3IPIS IR (C) unity elastic
(D) SUYd H H IS el (D) None of the above
100. RGO Nld SETEX B 100. Indian Railway is an example of :
(A) TSGR B (A) Monopoly
(B) Ul iR @ (B) Perfect competition
(C) STHTEHR Bl (C) Oligopoly
(D) STYd H H I Tl (D) None of the above
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the correct
answer and mark the same in the OMR
Answer-Sheet as per the direction :

Example :

Question :

QL D @ © ©
2 A ® @ ©®
W3 »® @ © ©®

Illegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRIT9T STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
el SR Bicd 2| IR B OMR J=R-3e d
TR go AT H 9 YR WA
ISR
T9q
w1 @ © ©
w2 A ® ©
s D @ © O
TSI TR AT W SR ST BIeT AT 98l 11
2, T el | 3T W a7 T, S R R
feam S |

5. TP U b P TEE 2| MUB oA IR
e B, S @ IER 3@ UM fhd SR |

6. T SR Dad 3l TA. IR, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B M forem & qd I A T Wi e &
AAUYaS ug forrm S |

8. WeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUc&l &R & dIg
B e FeT 9 WRIE B} | uenefi e ey
TE-QRAHT o S e ¢ |

9. fanfeq afeT 78 2|

10.  ®Ig 9 % BR, YF-YRADI & 3 H, b-Dr
@ forv Ru @rell o W & favar o =nfey |

11, UE-%e H§ dN-ga, deldeicy, Yok a2l Heger
B of WHT dAT SHBT STIN BT gfoid g |

12. 9 & B U9 S WURRY § A=1ar 89 &
T H U T S HUFROT & A BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o

2y
i3
E
oy,
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j
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